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	Futures Market Problem





The following questions are an exercise in reading DTN, the Wall Street Journal (WSJ), quotes from an on line source and solving practical problems in trading and setting up hedges.  


			


	Data Transmission Network (DTN) and Wall Street Journal (WSJ)





1.	Price quote interpretation, following prices are interpreted as:





	a.	A  WSJ DEC KCBT wheat price quote of 304 3/4 would be interpreted on DTN as::





	b.	A DTN DEC corn price quote of 2286 would be interpreted in the WSJ as :





	c.	A DTN NOV soybean price quote of 4956 would be interpreted in dollars per bushel as:





	d.	A live cattle price quote of 6842 would be quoted in dollars per cwt as:








2.	"HIGH" 	"LOW"		and 	“LAST"  on DTN    means:








3.	A DEC corn price quote on DTN and the related information is interpreted as:


	(Two parts to the question-- what does the asterisk mean and second, what was yesterday’s LAST as indicated by CHG)





			LAST		CHG


			2296*    	-42








4.	If I were looking for a summary of grain futures prices, I would “toggle” to the _________segment.


	Mann Futures' Presentation of Daily Quotes


			


Symbol	Month	Date	Open	High	Low	Settle	Change	Volume	Op. Int.





� 











5.	The "Op. Int. (Open Interest)" column measures _______________.


6.	The Volume column measures ________________.


7.	Based on the above the most liquid contract month is ______.


8.	Based on the above, the previous day's settle DEC00 (CZ00) was_________.


9.	Would you expect todays OPEN to equal yesterday’s close and why________?


	


Due:  September 16 at the beginning of class.
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